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e B x . ¢ X 2 ks T X I~ " ? I/\ - x - NS > X
B EEWR | 8 RAMK |E SRR S B EEBE | G or o | RO ARE) | B ARMK | B 2SR | E IR
KR4 HE(E EHEEKR IRA KR ENAKE | l-#E#EKER FEKE [BIKRGES)| BAIKE Mg - AEKIE £ 2 KB E8KE S IUKIER
REUS T Hp = — o HER | F20HER (BHITRASEEE| GRS KFEMH1t KIFEM1 AEESFT 7R HER | E/EAE |Fox-mtEARE
BREBMA ABlBE AB%E AflERE AB%E Afl%RE A%E ABlRE Af%E ABlRE Af%E AflRE
Z{+H 2023/8/22 2023/8/22 2023/8/22 2023/8/22 2023/8/22 2023/8/22 2023/8/22 2023/8/22 2023/8/22 2023/8/22 2023/8/22
$5E BE k) BE k) BE i) BE ) Ba ) Ba
— 100% ml 0 0 0 0 0 0 0 0 0 0 0
_ N THEH N TEH N TEH N THEH THEH T i N
IV LN ORZD W) 10.008mg/LYL T = - - = -
IKER N DN DAV EW) 0.0005mg/LEL T — - — - - - - — - — -
YL N OZFDVEY) 0.0lmg/LLLF — - — - Z - - - - - —
sa N X DALEW) 0.01mg/LLL | - - - - - - - — — — —
OF N OFEDIED) 0.0lmg/LVLF - - - - 0.001 - - - 0.001 - -
6L OZ O AT 10.02me/LIE = = - = - - - = = = =
b iR e 2 0.04mg/LPL | _0.004 X5 0.004 5&% 0004 _*n& 0.004 Fi 0.004 Fim 0.004 Fi 0.004__3; - — - —
T AL K O L7 10.00mg/LELF] 0.001 X ji 0.001  x; 0.001 =X 0.001  X;ify 0.001 =X 0.001  X;ify 0.001  x;ifi - - - -
TEZ )% Ot B TE % 52 | 10me/LEL T 0.25 0.34 0.30 0.40 157 0.71 0.07 - - - -
%=0+)§2U%0) raw 0.8mg/LLL | - - - - - - - - - - -
I N DAY DCPZJ lmg/LDL | = - = - - - - = - = -
R BIES 0.002mg/LLA F|__0.0002 ﬂeg 0.0002 k; 0.0002 k; 0.0002 k; 0.0002 % 0.0002 k; 0.0002 %; - - - -
LA-—y A%Fy 0.05mg/LVL F|__0.005_3k; 0.005__k; 0.005_%; 0.005__; 0.005_%; 0.005_k; 0.005__; - — - —
’ if%;j ggsgtj KO0 omme/LetF| 00002 %% | 00002 %% | 00002 ki | 00002 k% | 00002 k& | 00002 ki | 00002 i : - : -
Va0 Ay 0.02mg/LVL | _0.0002 3k, 0.0002 k; 0.0002 3k; 0.0002 k; 0.0002 3 0.0002 >k 0.0002 3k; - - - -
b SIS 0.01mg/LPL F| _0.0002_; 0.0002 0.0002 = 0.0002 0.0002 0.0002 _=%; 0.0002 = - — - —
SUETES 0.0lmg/LPL F| _0.0002 ; 0.0002 0.0002 % 0.0002 0.0002_; 0.0002 >k ; 0.0002 ; - - - -
NG 0.01mg/LVL F| _0.0002_; 0.0002 0.0002 0.0002 0.0002 0.0002 _=*; 0.0002 =% - = - =
e 0.6mg/LLL 0.10 0.06 0.06 _ X; 0.06 0.06 _ X; 0.06 X, 0.06 X; - - - -
70 E 0.02mg/LLL F| _0.002 X 0.002__k; 0.002__k; 0.002 0.002__=%; 0.002__k; 0.002__3k; = - = -
JaaVA 0.06mg/LVL | 0.016 0.003 0.008 0.0032 0.0002_%; 0.0004 0.0002_X%; - - - -
LA 0.03mg/LLL T 0.01 0 0.004 0,004 0.003 0.002 _k; 0.002 3k; 0.002 _k; = - = -
T HEJOaA Y 0.lmg/LULF 0.000 0.0008 0.001 0.0029 0.001 0.0002_x; 0.0002_%; - - - -
EXA 0.0lmg/LPL | 0.001 x5 0.001 Fim 0.001  F.u 0.001 Fim 0.001_ =, 0.001__=; 0.001__3; = - = —
NI 0.lmg/LULF 0.020 0.0059 0.013 0.0099 0.001 0.0007 0.0002_X%; - - - -
N oo 0.03mg/LLL T 0.008 0.002 Fi& 0.003 0.002 xi& 0.002 *i4 0.002 Fi& 0.002 = — = —
7 0ty Jauiiy 0.03mg/LVL F 0.004 0.0021 0.004 0.0034 0.000 0.0003 0.0002_%; - - - -
T OERVD 0.09mg/LLL | _0.0002 X 0.0002 ki 0.0002 *& 0.00 0.000 0.0002 k& 0.0002 k; - = - =
TVAT VT ER 0.08mg/L2L F| 0.008 Kji 0.008 it 0.008 X 0.008  Xjii 0.008 X 0.008 K 0.008 — - - -
e M N DAL EW) lmg/LDL | = = = - = - - = - =
7L TLEOZ DL A% [02mg/LOLE = , = - = = - = = = =
TR O DILE) 0.3mg/LPL | 003 X4 003 _ X4 003 X4 003 X 003 X4 003 kum 003 _ X4 - - - -
AR (R Tme/LUL T = = - = - =
TN L OOl A7 [200me/LPLE - - - - - - - - - - -
< ROX OILAY [0.05me/LELT = = = - - - = - = =
At AA 200mg/LUL T 3.8 34 3.7 3.9 5.1 3.2 4.2 34 4.2 4.3 34
Ty b 7 3y L ZEER ) [300mg/LLL [ - - - - 70.3 37.7 - — - — -
TR TR 500mg/LYL | - - - - 118 69 93 - - - -
= A i TG T 0.2mg/LLk = - = - — = — = — = -
VARV 0.00001mg/LEL R - - - - - - - — - — -
2= AF WAV VAF—=)V 0.00001mg/LLLF - - - - - - - - - - -
JECE ALV 0.02me/ LT = = = = = = = = = = =
7x/)—)VEA 0.005mg/LLL | - - - - - - - - - - -
HEEYE (TOC) 3mg/LUL T 0.6 0.3 0.4 0.3 X 0.3 i 0.3 x4 0.3 ki 0.3 o 0.3 x4 04 0.3 X
pH E5.8:C87£6 7.87_7 57'77?' 7. 279 7'373 7.379 7.273 7.579 7.5}5 57'57‘2 7. 573 57.1 7;
T G Hel A R 2R R Eeg R AR A AR A
%xﬁ LY RGN A 220 =& 220 oE7 2240 =& , TEAC LR A0 TEAC LR A
(e EA 1 X i 1 X 1 3 1 i 1 3 1 3 1 3 1 3 1 X 1 3 1 3
IEA iR 0.4 0.8 0.1 _x:m 0.8 01 . 0.1___*; 0.1__ =, 0.1___*; 0.2 N 0.1 ki
E 01LLE 0.22 0.12 0.10 0.10 0.25 0.21 0.16 0.10 0.10 0.28 0.13




